DU MPhil PhD in Hindi

Topic:- MPHIL_HINDI_T1

1) urff & My-Hm F siarfa My-fvg F Fafea & g9 wyfrea & R w® @1 3@ 9t ?
[Question ID = 783]

1. Y-ufafd, e =f® &t 3G 3R 3reag=-gi [Option ID = 3129]
2. fawgTa 1, HINATE 9, SOt Ty edT 3R gRi [Option ID = 3131]
3. fowa & fagHl &1 I, Il & Hia auT $H-F8T [Option ID = 3130]

4. MY IJUBUN B} JUAKIAT, TNT HIGT 3R 357 Wfad [Option ID = 3132]

Correct Answer :-

. fawgra Sfe, UTSRTE 1, 3ot =Y &TaT 3R gfy [Option ID = 3131]
2) i, arfasht Rt ok ST, faodis wae g1 wuIfed qva® HTAm w1 ?
[Question ID = 770]

1. &t 3r¥YM & 3maTH [Option ID = 3077]
2. TIfefAH SHYUM [Option ID = 3080]

3. 3FHY Bt UlehdT [Option ID = 3078]

4. TNy UM [Option ID = 3079]

Correct Answer :-

o 3{IHYM &I Ufehar [Option ID = 3078]

3) afe IgEfey FH-faaR Har 8 ot alas FT HRAT | ?

[Question ID = 789]

1. T 3R T|HETHR & &Y IoIFR BT g1 [Option ID = 3156]

2. T B WG Aieagyfd § dIered &=aT g1 [Option ID = 3155]
3. U-U qeY 3R T D) Wl febTerdr 21 [Option ID = 3154]

4. IGPH S A B! TG T g1 [Option ID = 3153]

Correct Answer :-
o T B WHYT Jieaigyfa J drered ST 81 [Option ID = 3155]

4) Y HT IRAMAP RIS B TEY ) T & -- [Question ID = 778]

1. Jd Iuasd sl ol WieRd §U IGH U 31 SIgA aTa [Option ID = 3112]
2. qaqd! faaRe®! & faari &1 9dun %A arel [Option ID = 3109]

3. 71U 31f 3R T2t Y Wio 8 YR I8 aTell [Option ID = 3111]

4. TS $I FHUA Ig aTal [Option ID = 3110]

Correct Answer :-

. gdad f[aaR®! & faaRT @1 4 H= aTal [Option ID = 3109]

5) Tifgcd ik fag= & weaad wy-faval A gaife vew fPaapTglar g ?

[Question ID = 786]

1. A8 3R TP BT [Option ID = 3143]
2. RS 3R 3R BT [Option ID = 3142]
3. YTg 3R HeUT &7 [Option ID = 3141]

4. 7 3R fa=R &7 [Option ID = 3144]



Correct Answer :-
. 9 3R fdTR &7 [Option ID = 3144]

6) forlt it & waffire wevayef quif & wr e a8 2 2
[Question ID = 779]

1. forgman, afvem 3R @H=fier [Option ID = 3116]

2. 318, fufa A @Y e, 3refRar [Option ID = 3114]
3. 94, IV 3R HIeufedr [Option ID = 3115]

4. YTV G&fdl, Y9g-gfl, sre==iledm [Option ID = 3113]

Correct Answer :-

« 9 IAW 3R BTedhdl [Option ID = 3115]

7) T oft 3y rgRiuTEwl B Heud Jad: 6 qur F famr T8 Y o T@dl 2

[Question ID = 776]

1. 3TAETHS UfdHT & o1 [Option ID = 3104]

2. Hifeie Heu1-ef® & foT [Option ID = 3101]

3. Ui Ure® g g & faT [Option ID = 3102]

4, YT9T TR YA fABR o o1 [Option ID = 3103]

Correct Answer :-

o 3MTAEATES UfaHT & fSHT [Option ID = 3104]

8) 3IEIHT, T BT Y a9 YR HT Ad! 8, 59 STH --
[Question ID = 784]

1. Ui exafafad uigaffdl ot @ie &1 arear gl 81 [Option ID = 3134]

2. s fufg 3R FeRor &t G- g1t g1 [Option ID = 3136]

3. 7 I, Aifere Trh SR 3 f3meif wt W-gRy gt 81 [Option ID = 3135]
4. Il & FReroT-Tdero &t gi it 81 [Option ID = 3133]

Correct Answer :-

o 49 I, A TRl ok A8 fazmaft @) Wie-gii gt g1 [Option ID = 3135]

9) MY-TTRR # gaudr R Iugifrar et #) w9 gAfda s gd 2 --
[Question ID = 768]

1. fawg fAafem & I73 [Option ID = 3069]

2. fawg fad= & THT [Option ID = 3070]

3. fawg arffe=ur & I [Option ID = 3071]

4, TR Ud Tra1 fAAfor & 97 [Option ID = 3072]

Correct Answer :-

. fowg fAafem & Im [Option ID = 3069]
10) 59 My v ¥ HTUT-oaaeR fAvgs deon & e Y Al §, S AT PEA & ?
[Question ID = 782]

1. et I 2Ny TGFA [Option ID = 3128]

2. JATS TGS ]MY TG [Option ID = 3125]
3. AIATI® MY GGHA [Option ID = 3127]

4. UTST 3% ]NY TG [Option ID = 3126]

Correct Answer :-



« HIST 31D MY Ugid [Option ID = 3126]

11) fawy-fafe & gwa f$9 a9 & ge=1 Tfee 2

[Question ID = 775]

1. AMY-Hhed g o AN, M ol Has AHERf U = 811 [Option ID = 3098]

2. fow AT -aRG dd SUANT &1 811 [Option ID = 3097]

3. fawa & T 9 & Wi, TR B B YHGHT g1 dTeCl [Option ID = 3099]
4. fawg aiferayel, Mifere vd uRifite €1 =nfeT| [Option ID = 3100]

Correct Answer :-

o TMY-Hhed GEg 811 IIeY, Hd 81 Y AR Iueisy 7 811 [Option ID = 3098]

12) 3rgefiey ®1 9@ uH i Ui e --
[Question ID = 777]

1. 73 Hifeier saRedT & AT @ Yd YR BT §GaT [Option ID = 3108]

2. gd RA1fq ST &1 ggaT [Option ID = 3107]

3. XNy fawg qur deg It &1 Te=-THR 31e@= ST [Option ID = 3106]
4. 3T P WIS BT [Option ID = 3105]

Correct Answer :-
o Y fAwg gyt Gag Il &1 Te9-1HR 31e3g9 &A1 [Option ID = 3106]

13) YT P TR I T I AR 8 ?

[Question ID = 773]

1. NY-yeY & Ut ure-fewor geiy gR1 SR W g AT [Option 1D = 3091]
2. T Rl BT Y@ Ugd AT 98T [Option ID = 3090]

3. fawg 1 arfferur A Ui § A1 91f2T [Option ID = 3092]

4. MY Y& D1 WP FYKGT g1 91T [Option ID = 3089]

Correct Answer :-

o Y-y & U ure-fewur gedy Q1 HA R feraH A1f8T [Option ID = 3091]

14) SRYH-ufARr Td ufthar & AR Fa1 SugE § 2

[Question ID = 788]

1. AMy-Ugfa Wy 3R AT 1 T1fdTl [Option ID = 3151]

2. TNY-TET & SR Ue-fewur-fafaedr te =u g1 =1fgu| [Option ID = 3149]

3. Y hHTG, AT 3R AT wfafyr & ot S =nfdel [Option ID = 3152]
4. Y fade & HYT P GT3fad 3aRF g A1l [Option ID = 3150]

Correct Answer :-

o MY [qd99 & HYF B GTofad 3a=T g1 A€l [Option ID = 3150]

15) =My e $1 TR A PH-W FYT T --
[Question ID = 765]

1. =nerf o U fofa emgar 1+ =1fgWl [Option ID = 3057]

2. S0y, A qat ) WS g 81 81 [Option ID = 3060]

3. TN, 3MTaraAT 3R THiem &1 gt U ¥4 g1 [Option ID = 3059]
4. TNy A a2 B RS T3 =P F T AU [Option ID = 3058]

Correct Answer :-

o Y, AT 3R JHIT BT € Th FU g1 [Option ID = 3059]



16) MY & WEY H! fAfifa F3A ard gt &, Hi=-a1 I WA T 8 --
[Question ID = 767]

1. Sf(¥aT [Option ID = 3068]
2. TGN [Option ID = 3067]
3. Y- TP [Option ID = 3066]
4. Y- UfAfY [Option ID = 3065]

Correct Answer :-

« G [Option ID = 3068]

11?[73";?%%%,ﬁwmmﬁamr,Wﬁﬁuqﬁamm-mmﬁﬁmmmmﬁmmmm
: -

[Question ID = 780]

1. 391 ufafd 3R ufehar & [Option ID = 3117]

2. 3MTArTHS Uity 3R Ufshar & [Option ID = 3118]
3. g Ufafer 3R ufssar & [Option ID = 3119]

4, T 39S Ufafd 3R ufekar & [Option ID = 3120]

Correct Answer :-

« ¥ Ufafd 3R ufshar & [Option ID = 3117]

18) Y F i ITURT H ATS S =1 $t FP1E, AT fhd YR $t ArRil & idiia 3t wrdl @ ?
[Question ID = 787]

1. STYRYJ UTS [Option ID = 3148]
2. T 918 [Option ID = 3145]

3. 3M1ef U8 [Option ID = 3147]

4, TgI® U3 [Option ID = 3146]

Correct Answer :-
o gl YIS [Option ID = 3146]

19) ‘UTSTIHYUT’ &1 Y& IR T g1 ¢ --
[Question ID = 769]

1. UigfoI o1 wHTiIe uré fAYiRor [Option ID = 3074]

2. faqw UTe &1 @I BT [Option ID = 3073]

3. YT UTS G Ugdn &1 Ygd AT [Option ID = 3075]

4, HTST 3R a1t BT ¥ | UTS BT YFSHT [Option ID = 3076]

Correct Answer :-

. UGt &1y ure fURRor [Option ID = 3074]

20) "< W o1 g7 7, I f5e A Wemr & g Suged T H1F-18 2
[Question ID = 771]

1. TN [Option ID = 3081]

2. 3{-dYUT [Option ID = 3084]
3. @I [Option ID = 3083]

4, 3J™HYT [Option ID = 3082]

Correct Answer :-
« 3YYM [Option ID = 3082]



21) “"FIATIHY B HTA TG 31 My~ [$ fag™ srearas = gifva foean 2
[Question ID = 781]

1. ST, WY g [Option ID = 3123]

2. 8l. 7% [Option ID = 3124]

3. 8. fasrura &g [Option ID = 3121]
4. ST, TG W [Option ID = 3122]

Correct Answer :-
« BI. 7% [Option ID = 3124]

22) "=y § g &1 fAzeyvr-fad== g aaraver # v g AT 817 -- 98 pyA fra g #1 8 --
[Question ID = 766]

1. ST. 7% [Option ID = 3064]

2. 81, fasiig "W [Option ID = 3063]
3. 3egHT g [Option ID = 3061]

4, TTfa=At R8T [Option ID = 3062]

Correct Answer :-
. 8I. 7% [Option ID = 3064]

23) “fEd-Tawsal & ga i IPpa A g7 -- 39 ey o1 5 yeR $t My-usfa I yra frar srar g --
[Question ID = 772]

1. GRepicies QMY-TGfd ¥ [Option ID = 3086]
2. Ul 2Me-ggfd ¥ [Option ID = 3087]
3. gaTdD MY-UGHd ¥ [Option ID = 3085]
4. UTYT-3MTe TMY-TEfd ¥ [Option ID = 3088]

Correct Answer :-

. UfdeiRie My-uGfa | [Option ID = 3087]
24) “TAYT’ Ieg B YARTIAD TSI T ?
[Question ID = 785]

1. 39T 1 fawg &1 JHIARATHS RSAT 6T [Option ID = 3138]
2. faia 7dH 9 o1 WIS HRAT [Option ID = 3140]

3. gderur 3R PHegT § T fAshy fReTaAT [Option ID = 3139]

4. S QIS ST gaT &, 3 fhR ¥ WISHT [Option ID = 3137]

Correct Answer :-

« S TS O GBI 8, I B I WIS [Option ID = 3137]

25) HINT-3|I® WY A FT GHIRT 8] gan ?
[Question ID = 774]

1. @Y 3% MY [Option ID = 3096]
2. Teq AT TMY [Option ID = 3094]
3. RURTETE! TY [Option ID = 3093]

4. 91T AP MY [Option ID = 3095]

Correct Answer :-

+ TRURIGETE! *MY [Option ID = 3093]



Topic:- MPHIL_HINDI_T2

1) A RorR-ute F @ T HR FH TR TC § ?
[Question ID = 802]

1. 71T 94 [Option ID = 3207]

2. Rragr Rig 9g™ [Option ID = 3208]
3. gara- a1 gt [Option ID = 3205]

4. $R1 THT [Option ID = 3206]

Correct Answer :-

« R zHf [Option ID = 3206]

2) Afaereia wfa Yuor farfa AT 8 @ --
[Question ID = 793]

1. fRrar §1a-t [Option ID = 3172]
2. RIERTS YWUT [Option ID = 3170]
3. YT§I- YO [Option ID = 3171]
4. BAYI qRIh [Option ID = 3169]

Correct Answer :-
o HIYI- YYUT [Option ID = 3171]

3) T IUNY F RIE 3 IUAM ¥ iR # Ugw fPuema @ ?
[Question ID = 806]

1. HIAGHT [Option ID = 3223]
2. 3UHT [Option ID = 3224]

3. QUITUHT [Option ID = 3222]
4. JIYHT [Option ID = 3221]

Correct Answer :-

« HTAGHT [Option ID = 3223]

4) ATe® B Yd 91 Ufa™ &1a F1 eI F JIAT 7 I Ht FT HET AT @ ?
[Question ID = 800]

1. fague [Option ID = 3197]

2. qAYR [Option ID = 3198]

3. faudnya [Option ID = 3200]
4. 34N [Option ID = 3199]

Correct Answer :-

« faw&s™® [Option ID = 3200]

5) AfAuE # smadY g A o fra-t yrwrai & =i fear mar @ 2
[Question ID = 798]

1. 22 [Option ID = 3191]
2. 21 [Option ID = 3190]
3. 18 [Option ID = 3189]
4. 24 [Option ID = 3192]

Correct Answer :-
e 22 [Option ID = 3191]



6) qdl &t & qeo1 Siferaf & --
[Question ID = 794]

1. WeTgS, TR, AfYER [Option ID = 3173]

2. SSTHTH, g, HRat [Option ID = 3176]

3. 31a<ft, SO, BIGT [Option ID = 3174]

4. FUTGAT, Wetaell, §FRe [Option ID = 3175]

Correct Answer :-

« g, FU, BXTG! [Option ID = 3174]

7) gW! TARSTS ST WWRT HT UYH ST Y fHd A1 SIren g 2

[Question ID = 809]

1. 3T SRR [Option ID = 3236]
2. IGIIH [Option ID = 3234]

3. TGt [Option ID = 3233]
4. G3I1ad [Option ID = 3235]

Correct Answer :-
o TGHIA [Option ID = 3234]

8) faurft 8l ugwn =3, 3me | IS g M|
IS B i@l A guEry, 98 grft wfaar siem 11| - e Bfd B Srea-ufRmEi € 2

[Question ID = 799]
1. AR FUT8t [Option ID = 3195]

2. IWYRT Rig fGAdH [Option ID = 3194]

3. gfAAEA Ud [Option ID = 3196]
4. AR T [Option ID = 3193]

Correct Answer :-

« AT Ud [Option ID = 3196]

9) ‘¢ Hfqar U F FRIUS-YUICP HTAH @ --
[Question ID = 814]

1. ST T [Option ID = 3253]

2. fieid g [Option ID = 3255]

3. YHdR YRl [Option ID = 3254]
4. PR AR [Option ID = 3256]

Correct Answer :-

« STEIRT W [Option ID = 3253]

10) ‘T G {5 ofd F S T=ATE ?

[Question ID = 812]

1. ST, IWFUR FAT [Option ID = 3245]
2. JMfqar 2l [Option ID = 3247]
3. 33T [Option ID = 3248]

4. GfATEH Ud [Option ID = 3246]

Correct Answer :-

« AR TET [Option ID = 3247]



11) ‘HiFea F dig v B 31 fFa sfagmeR A T U1 ?
[Question ID = 808]

1. B9IRY UTG fgddt [Option ID = 3229]
2. 4% guf [Option ID = 3231]

3. Siref BrRdA [Option ID = 3230]

4, 3TATd IME% Y@ [Option ID = 3232]

Correct Answer :-

o BORI Y9G fgad) [Option ID = 3229]

12) ‘33 &l P13’ (P F AP © --
[Question ID = 792]

1. ST YR SN [Option ID = 3167]
2. TR vTG fgadl [Option ID = 3166]
3. IER YT TQRY [Option ID = 3165]

4, 3T Rig IUTeE™ [Option ID = 3168]

Correct Answer :-
. 3favenT g IUTeA™ [Option ID = 3168]

13) “geril W gat WY, YHfAT F WeR|
% T A firell HToT fafdy ypR 117 - fPa Pl FT YT & 2

[Question ID = 803]

1. PRaRYer™ [Option ID = 3211]
2. igary [Option ID = 3209]

3. ATYTGN [Option ID = 3210]

4, IRHE &9 [Option ID = 3212]

Correct Answer :-

. fRaRier™ [Option ID = 3211]

14) ‘T f5 I ST R Ya § ?
[Question ID = 811]

1. YOI [Option ID = 3241]
2. A% [Option ID = 3244]

3. 4R [Option ID = 3242]

4. 9t [Option ID = 3243]

Correct Answer :-
« T [Option ID = 3243]

15) ‘JRT Iwe’ # FF-91 fFd i e T8 @ 2
[Question ID = 795]

1. gfaqaiy [Option ID = 3178]

2. HaRATY R [Option ID = 3180]

3. WAR AT T [Option ID = 3179]
4. $aR AR [Option ID = 3177]

Correct Answer :-

« gfaaay [Option ID = 3178]



16) ‘Had BN ARI DI A4, KR df¢t TRt ot - A feaeat dfwmars 2
[Question ID = 796]

1. 8RR ¥ [Option ID = 3184]

2. gdwid ATt FRIar [Option ID = 3183]
3. HgTed! g [Option ID = 3182]

4. gfATEA Ud [Option ID = 3181]

Correct Answer :-

« GG Ud [Option ID = 3181]

17) ‘Tt g8 =i i »fa &1 Fraa-WE E 2
[Question ID = 804]

1. AT [Option ID = 3215]

2. BRERM g2 [Option ID = 3213]
3. HRE-dTd aqad! [Option ID = 3216]
4. Yarvre i [Option ID = 3214]

Correct Answer :-

o HaMYTG A% [Option ID = 3214]

18) ‘favar R fige’ FHiaan gaa: fFRen & @y Fro1-Te A I@faa g ?
[Question ID = 801]

1. 7ifdeeT [Option ID = 3204]
2. URHd [Option ID = 3201]
3. 3HIH®T [Option ID = 3202]
4. ¢ T [Option ID = 3203]

Correct Answer :-
« TORH [Option ID = 3201]

19) ‘ISR’ AT & IARAGT HTAH B --
[Question ID = 815]

1. e Sit &1l [Option ID = 3257]

2. JAT9ARII0T 78 [Option ID = 3259]
3. IER M@ TERY [Option ID = 3258]
4. ed Ay [Option ID = 3260]

Correct Answer :-
« gad % [Option ID = 3260]

20) WIgd Aipar A i Wit & sfogra & vyw oa Ts & @ A fear ur 2

[Question ID = 807]

1. 371fdTd [Option ID = 3226]

2. SIS U9 &1 [Option ID = 3228]
3. 4R YT HT1aT [Option ID = 3225]
4, R¥g T 1 [Option ID = 3227]

Correct Answer :-
« < 9rd @1 [Option ID = 3227]

21) ‘Fdafeaeor Risia & o s 8 ?



[Question ID = 797]

1. .19 sferge [Option ID = 3187]
2. HIANRS [Option ID = 3185]

3. fea g3 [Option ID = 3186]

4. 9853y [Option ID = 3188]

Correct Answer :-

. 71.79. 3ferge [Option ID = 3187]

22) ‘OiEH-3=’ & YR W I frwafy &t saren g smad A st @ 2
[Question ID = 813]

1. Yg dlede [Option ID = 3252]
2. YS-Ie [Option ID = 3250]
3. Rigd [Option ID = 3249]

4. YT [Option ID = 3251]

Correct Answer :-

« YEATS [Option ID = 3250]

23) QRS I # o foraq quy (TS) § 2
[Question ID = 791]

1. 39 [Option ID = 3163]
2. 69 [Option ID = 3161]
3. 71 [Option ID = 3164]
4. 59 [Option ID = 3162]

Correct Answer :-
e 69 [Option ID = 3161]

24) ‘@eqT Rig’ 3 g AR A &) wifew &1 ulis ur g9 fean 2
[Question ID = 805]

1. YT 9T [Option ID = 3219]
2. IER T TR [Option ID = 3220]
3. WUIRATY YT [Option ID = 3217]
4, YHdg [Option ID = 3218]

Correct Answer :-
o TEYR AT TERY [Option ID = 3220]

25) IR A F ATYR W oI ool P A A o1 € ?
[Question ID = 810]

1.9, 9, 7, 9 [Option ID = 3239]
2.9,%, d, d [Option ID = 3238]
3.4, 4, g, ¥ [Option ID = 3240]
4.9, %, §, Y [Option ID = 3237]

Correct Answer :-
e d, Y, Y[Option ID = 3240]



